2RXS J115822.5-002005

gamm*bbdy

931732 0106

I L [TITT T T 1 LLLAREEE
: ITTE ITEE N | ITTEE |:

3 ; 7

S e S

(A93 s zwd)/suojoyd

RS LA LR [TTTTT]
- ‘ _
: TR ITER |||||1_-

(@) — 4V

o | |

2 S >

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

- o [sp]

: 88

[ 23]

o = 3

+ o 3

[aV] wn —

| | |

+ + +

— o ™ — ™

37§ %

=1 =] j£3] [] [

o — o wn o>

- © o ©o

— —] — — q—

Il
() 1]
-

© — Il
S ] >
()

g x L &

. 2 = o

n [z, z B z

[T T T[T T T TTT]

» i

= DA BN AN B A A .

<t (aV] o C})
srenpisey

1.00

0.10

X%req = 3.149

Energy/keV



